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a) Find the value of load impedance, 71, that makes z1 A = 24.6 — j36.9 Q. Note that
ZLA 1s the equivalent impedance of the entire circuit.
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b) For the above 3-phase balanced circuit, find the numerical value of the phasor
current Ica.

c) For the above 3-phase balanced circuit, find the numerical value of the phasor
voltage Vg
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¢) Since VAB:VAN\/§43O°, we have the same relationship for the

generator side:
Vit = Vanv/3£30°
or
Vg = 67.20° - \[3£30° =116 .£30°

Reversing the indices to b'a' means changing the sign, which is equivalent

to adding or subtracting 180°.
Vg =116£210° =116 £ —-150°



